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Fill in the bubble for the corregt answer.choige. .

20. A unicycle has only 1 wheel. How many wheels
are there on 9 unicycles? (cc.3.oas)
® 1
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21. Dan and his dad baked some cookies. They
put 5 cookies on each of 4 plates. Which number
sentence shows how many cookies they put Benl" riartinlist 2
on plates? (cc3.0a.1)
® 4 x5=20 3 or W 1R 29165 Loy SEIAGY N gninite} 2 RS AL
ot lct (UIRA YL Amidan i el 807
4X4=16 g
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22. Josh has 4 dogs. Each dog getsi2 ddg biscuits i
every day. How many biscuits will Josh need for
all of his dogs for Saturday and Sunday? (cc3.0a8)
® 4
8
© 12
© 16
23. Lacy planted 4 rows of 9 flowers. How many flowers
did she plant? (cc3.0a3) kst b dboginfe Chbeb e N G B Yo, e 0 oy 8
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P C?nstr;g_cggd Response

Zi,ﬂﬂg;é,_'egproblcm that you can use7 X 0'te'selve. .
(CC.3.0A5)

L B4

[

25. James made this array. Draw another array to DEEEE
show the Commutative Property of Multiplication. EEEEE
Then write a multiplication sentence for each array. HEEEE

(CC3.0A5)
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> Performance Task (cc3oa1, ccaons '« Wyt 58

26. Sharon is putting 16 cookies on plates. She will put an
equal number of cookies on each plate.

@ Draw two quick pictures to show how she could
arrange the 16 cookies two different ways. Then write
a multiplication sentence to match each drawing.

Picture 1 - | Ricture 2

§
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® Explain how you knew what multiplication sentence
to write.
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RN AW @ Chapter 4 Review/Test

P Vocabulary
Choose the best term from the box to complete
the sentence.

1. The Property of Multipllcation
states'that when the gfdupiig of fattdrs s chaﬁéeﬁ,
the product is the same. . 155 "' Ha

‘\Vﬁm;f?:,um Y,

Apa v ,( 0 Dy 4l

2 = TN
2. A of 9 is any product that has'9 as S o 2N
one of its factors. . 137) eXG A iens il SR VITIIN -
P Concepts and Skills 0315 I3 o1 4 1Y VAL SR SRR TN oL : i - dY0 il G ) W T
(- o 4 Y "~ AR | “‘1 . ! ;()/1. Hl..
Use arrays to show each property (CC30A 5)
3. Distributive Property 4. Assocnativé Property of Multrdllcatlon

Break apart the array to show Circle groups to show 3 x (2 ><‘%)

8 X 6 - (4 X 6) k/ (4‘?X 6)’- ,‘l Ty 'l.‘,L R A -r\, ! 01 10 J y-Vy e
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Find the product. (cc3.0a3, cc3.0a7) i3 .
» 58 6. 10 7 PRl 8. .6 B+ § 308 28n- 3
£ X 8 X4 X 97 X3 €. X e AU
(é; N 7ot
§;__ e % 1 L1 1 A,
$2 1179 X0 = 2.77% 8 = 13: 4 X'8.= f 5% 6 "
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38 15.9 X 9 = 16. 3 X 4 = 17.(5X'€10 7(><3—
g '
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Fill in the bubble for the correct answer choice. EST

19. Which number sentence is an example of the

Distributive l’ropc‘rly?_(c_gloo-é) 23 1 N & REP
@ S5X9=(5X5+(5x4) B

B A2 -X5#13-X (2 X 5) i
@IREE x5 rrreTEL .

® 5% 9 =45 |

B (S —

20. Adel needs 5 pieces of ribhon, each 8,centjmeters long
How much ribbon does she need altogether? (cc3.oas)

@ 13 centimeters  (©) 35 centimeters
(® 32 centimeters  (©) 40 centimeters
21. When Chloe finds the multiplication facts for 2, which digit
will NOT be in the ones place of the products? (cc3.oa9)
@ 8 © 4
® 6 ® 3
22. Vicky went to the store and bought 3 pairs of shorts. They
each cost $8.,I_-onv much did she spend? (cc3.0a7) 3 )
® 353 ®388 5@ $21 © $24

&
~23. A'honeybee Is at 5 Ccl It has 6 legs. How many more "R A
legs do 7 hone\fyb,eeé have than 5 honeybees? (cc3oa3) . ”

® 5 & T &.© 12 o

® 6 ® 30

24. Jody has bags of shells. Each bag has 6 shells. She gives
3 bags to each of 2 friends. How many shells did Jody
give away? (cc3.0A5)

®36_®18 _©12 @6 . e St o

25. The camping club rents 4 rafts. Each raft can hold
6 people. How many people can 4 rafts hold? (cc3.0a3)

@16 ®20 ©24 '® 30
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26.

27

N
o4

James made an array wjth 6 taws of 8 bjpaks- Which
number sentence shows oihg way ta break apartihis
array 1o find the product? (cc3.oas)

I--l-=iﬁ o
X I T 20 ¥ NIA
4. Tl e ) A

®6X8=(6+4) +(6+4)
® 6X8=1(6X4)+ (6 x4
©6X8=(3X%X4)+ 3 x4
@6 X8=(6X8) + (6X8)

Zach and his dad baked some cupcakes for his class.

They put 6 cupcakes on cathiiof:8 plates: How many

VL ne

cupcakes did they put on'the platés? ¢c¢soar = »n"

@ 12 Aoy <28 ualy £ ) MR
© 24 ] > 4 ' oAt gy . R R
(D) 48

. Sydnee’s class is studying}gnimall,s, that hibernate, or

go into a sleep-like state during.the winter. A black
bear’s heartbeat slows {0 about 9 beats per.minute
during hibernation. About. iow. many times will a black
bear's heart beatin 5 mlnutes’?,(cc,a,OA,7) itk dShgr vy
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P Constructed Response

29; Te{d Was on summer vacation for 7 weeks. She
‘sgéﬁ'l 3'weeks at band camp antl the rest of the tiing
at home. How many days did she spend at'home?
Explain. (cc3o0a7)
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30. There are 5 pounds of apples in one b«_ﬁ. a]‘;e & *
table to show how many pounds of apples arein 6
bags. How do you know your answer is reasonable?
Explain. (cc3oaus)

P Performance Task (CC3.0A 3, CC3.0A.7)

e S —— -

31. Haylie and Justin went camping with their fémilles_
for 7 days. They each took their own bottles of water.

(A Haylie drank 6 bottles of water each day. She took

-home 6 bottles of water. How many bottles of water——-

~did Haylle take on the trip? Explain your answer

® Justin had 5 packages with 8 bottles of watér in each

package. He drank some ofthe bottles before the trip:

During the trip, he drank 5 bottles a day. He dra‘nk‘all
the bottles before he wént' home. How many bottles*
of water did Justin drink before the trip? Explain.

[}
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@ Chapter 5 Review/Test

' P Vocabulary

Voc by

Choose the best term from the box.
AU Lo

1. An is a number sentence that uses

: | pard e ¥
the equal sign to show that two amounts are equal. PR DI S N PR
(p. 185) ™ ) '
» Concepts and Skills 3
Describe a pattern in the table. Then complete e

the table. (cc3o0a9)

2.
4 5 s 3 4 5 G|/
| h 24 40 | ¥
;
Find the unknown faCtOij(cc.,?.'c_zfAf.) s ol b A e G gt ™
v 4. p X 6 = 42 IBIERE = FH G nt gl rkang gy
) ' ¢ >;-,\'|'A 3 - ""/"1"'\."",,0f"' dt ‘) ' i f
‘ 7 R Wb e §'= | - :
|
) Find the product. (ccaner3) 4
7.6 X 40.= 8.3 X 80 = 9.4 X 90 = 10. =5'% 50
U E 41 B0 e ) 13. 60 . 80
g X © X Oy il G307 ST ] DERTLD 71 ¢ TR e
e T s VT g s
{ (93 5 DL o= 8 7 B LY
\15:. .40 16. /0 17." 80 P ragls 20~ U
Vi g X O X 9 O3 ] 08 @
08 5.8 L2 \d
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Fill in the bubble for the correct answer choice. EST

19.

20.

21s

22

204

What number makes the equation true? ccs.oaa) ‘

C X 9=527 3 l",' REP
@) 2
® 3
©4
® 6 ‘ .

The camping club rents 4 rafts. How many people can
4 rafts hold? (cc30a9) )

RIS 2 3 4 141 . 3,y '

Reon| ! 16 |24 | W

® 20 T ‘ e
® 26 L '
© 32
® 40

The third-grade locker room has 48 lockers. There aré
6 lockers in each gow, How many rows of lockers are , ’
there in the third-grade Tocker room? (ccaoaa)

® 9
® 8
©, 7
® 6

Which equation is an example of.the Distributive
Property? (cc3.nsr3)

@ 8X20=8 X (10 ¥10)

2 Tog Compary
:

8% 20.=20-x 8 S N SR oy
© 20 % 0.=0 £ 2 2 Ko g : :
@ 160 =8 X 20

8



NAme )
FlLin the bubble fortiie tolrett dnswer eholce. )
23. Alya planted 20 lln‘yx"ql"h\\‘wﬁ \'m*.l{ U I\l'.id
G flowers in it HoW Wany fidwers did she PYNL? (ccanayy) g dbgt
® 80 i 4 ' it L
| ® 120
© 160
(D 180 TR ) wWaod vilang b ' ; WY e
24, The community u\nlg‘ri\ P}'u\l}; ;1 \]()\4‘/‘\&'{ g:\ ‘(l'm,l yses . l )
4 pieces of paper, oy gy IR b ’,}‘s\(’@\"- 2 TR A
needed to print '}() coples ugﬂw NEWSIBUS? (ccanora) | I ‘\ g '
W 110
M) 140
\ © 210

f (D) 280

25. Use the number line to find .’i X 20.
What is the product? ccannry

Il B e s e e s s e ey e ey ey e B s BTN R TN T
0 10 20 30 40 ;x’Q '{‘Q\‘I'Q, ﬁp,.t)ﬂp"lQ‘Q, llQ _\2.” l,\Q 140 Mt‘)’m Vil k YO

A 100 ‘ 4t

® 20 : ‘ Lo !

© 10 ‘_ \ ‘ W
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\
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26. Which of the following describos o pattornin
the table? cenoan)

[ LRI {f g 818

%limnuuw ; q i} 12 I 20

) Add 3 () Multiply by 2
() Subtroct 3 () Multiply by
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b Constructed Response

27+ lﬁ'g-ggn‘ 1is 32 books to Pack in boxes. She packs i hooks
ddfibox. How many boxes (oes she need? YWrile an

equation using the letter 7 to Stm‘)d for the unknown factor.
Explain how to find the unknown factor (c'cao;\ 4) '

28. The bookstore has 6 shelves of poeltry books. There are !
30 poetry books on each shelf. How rn‘any poelry books
does the bookstore have? Draw 4 diagfam'to show how
you can use the Distributive Propérty to idd the Humber of
poetry books. (cc3ner3) "l
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P Performance Task (CC.3.NBT3)

—29. Ruben is collecting tans for the School récycling contest -
He makes two plans to try to collect the most cans.

Plan A: Collgct 20 cans a week for 9 weeks.
Plan B: Collect 30 cans a week for 7 weeks.
@ Which plan should Ruben choose?

® Explain how you made your choice.
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